(BEX| HAH2H 7|1=7, #/107H)

E + = 4 P2 o™ F[y =
2101 BEEILE S| Fda | S Se 2 | Seh o2 | 52
2007410 1,069 1,019] 971| 953| 8331,064|1,006 |1,054|1,016]1,023| 996|1,023| 996
i 1,126] 1,094 1,084 1,074 | 954 1,093 |1,058 |1,088|1,068 | 1,076|1,056 | 1,076 | 1,056

128 1,541,221 11,207 | 1,197 |1,077 {1,194 {1,164 [1,194 1,174 1,197 |1,175|1,205| 1,181
20084 18 1,262|1,232]1,222|1,212|1,092 |1,222 | 1,192 [1,212]1,192 1,202 1,182 | 1,202 | 1,182
28 1,287|1,25711,243 1,233 1,113 |1,259 | 1,229 | 1,253 | 1,233 | 1,2771,200 | 1,227 | 1,200

33 1,349]1,319]1,289 1,279 1,159 |1,309 | 1,279 [ 1,299 | 1,279 | 1,289 1,259 | 1,289 | 1,259

44 1,283]1,253]1,223|1,213]1,093 | 1,243 11,203 | 1,233 1,203 | 1,202|1,172|1.202|1,172

5% 1,23711,207 1,181 1,171 1,051 |1,203 | 1,163 | 1,194 | 1,164 |1,200|1,170| 1,157 |1.127

E 1,202|1,166|1,150|1,140|1,020 | 1,157 | 1,113 |1,140|1,106 | 1,181,082 | 1,089 | 1,053

g 1,255]1,19011,150|1,140|1,020 |1,169 | 1,101 [1,159 1,101 | 1,140|1,075| 1,140|1.075

8% 1,24511,14911,107 1,097 | 977 1,163 |1,076 [1,153 1,076 |1,135/1,039 | 1,140/1.043

e 1,468 1,309 1,242 1,232 1,112 1,376 | 1,266 [ 1,374 | 1,259 | 1,363 1,204 | 1,373 |1.214

108 1,430] 1,314 11,244 1,234 1,114 11,320 1,248 | 1,318 | 1,247 | 1,317|1,199 | 1,327 |1.209

i 1,482|1,45211,392 1,382 1,262 |1,350 | 1,320 [ 1,350 1,320 | 1,3301,286 | 1,354 |1.275

128 1,536|1,47711,41111,401 1,281 11,391 | 1,345 (1,386 | 1,345 1,358 /1.289 | 1.36711.294
20094 13 1,563]1,50311,453 1,443 1,323 |1,416 1,350 | 1,406 | 1,350 | 1,375/1.315|1.375/1.315
28 1,374|1,32411,274 1,264 1,144 11,200 {1,130 [1,190|1,130|1,193|1,133 | 1,193/ 1,133

EE 1,42011,356|1,306 1,296 |1,176 | 1,287 | 1,198 | 1,278 | 1,200 | 1,252 1,176 | 1,260 | 1,184
38252 (1,510(1,440(1,390 (1,380 (1,260 {1,350 [ 1,260 1,340 | 1,260 | 1,330 | 1,250 | 1,340 1,260
31%11,480| 1,440 1,390 1,380 1,260 | 1,350 | 1,260 | 1,290 | 1,260 | 1,300|1.250 | 1.310| 1.260

48 1¥{1,480(1,440{1,390{1,380(1,260 | 1,300 | 1,260 | 1,290 | 1,260 | 1,300| 1,250 | 1,310| 1,260
4%11,480| 1,440/ 1,390 1,380 (1,260 | 1,300 | 1,260 | 1,290 | 1,260 | 1,300 | 1,250 | 1,310 1,260
9%11,430|1,410|1,390|1,380 (1,260 | 1,260 | 1,220 | 1,250 | 1,220 | 1,250 | 1,200 | 1,260 | 1,210
132(1,430|1,410(1,390 (1,380 |1,260 | 1,260 | 1,220 |1,250 [ 1,220 | 1,250 (1,200 | 1,260 | 1,210
179(1,430|1,410(1,390 (1,380 1,260 | 1,260 | 1,220 |1,250 [ 1,220 | 1,250 (1,200 | 1,260 | 1,210
20211,430]1,410] 1,390 1,380 1,260 | 1,260 | 1,220 | 1,250 | 1,220 | 1,250 | 1,200 | 1,260 1,210
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(AERI7H, A, f/k)
+ = A TR aE F|H F
TE = s i CH CH = CH
2007108 992 1,088 1,146 1,043 1,042 929 1,013
18 1,263 1,297 1,373 1,303 1,275 1,220 1,263
128 1,446 1,472 1,550 1,556 1,447 1,371 1,439
20084 1€ 1,527 1,517 1,508 1,550 1,481 1,448 1,481
2 1,488 1,488 1,447 1,533 1,448 1,424 1,448
3 1,434 1,434 1,434 1,498 1,421 1,345 1,426
48 1,367 1,367 1,283 1,367 1,327 1,183 1,327
5d 1,346 1,346 1,269 1,346 1,255 1,106 1,306
6% 1,470 1,520 1,520 1,622 1,465 1,303 1,420
78 1,924 1,946 1,956 2,099 1,982 1,774 1,884
8 1,886 1,896 1,922 1,990 1,896 1,713 1,842
98 1,242 1,305 1,382 1,435 1,368 1,190 1,243
108 1,684 1,752 1,765 1,790 1,770 1,594 1,674
1 1,790 1,833 1,870 1,943 1,857 1,680 1,780
128 1,816 1,894 1,965 1,848 1,891 1,706 1,806
20094 1 2,306 2,306 2,316 2,339 2,286 2,184 2,306
2 1,846 1,896 1,964 2,004 1,891 1,725 1,882
33 2,000 1,990 1,990 2,039 1,990 1,881 2,010
38 23¢ 1,900 1,900 1,900 1,900 1,930 1,800 1,900
30 2,100 2,100 2,100 2,100 1,980 2,000 2,100
44 2Y 1,900 1,900 1,900 1,900 1,830 1,800 1,900
6 2,000 2,000 2,000 2,000 1,930 1,900 2,000
13¢ 2,200 2,200 2,200 2,200 2,130 2,100 2,200
16 2,000 2,000 2,000 2,000 1,930 1,900 2,000
18Y 2,000 2,000 2,000 2,000 1,930 1,900 2,000
20 1,900 1,900 1,900 1,900 1,830 1,800 2,000

(xtl:1.6kgo s, T 1.4~1.6kgm| T, 2~:1.4kgr] i)
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